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M’eeloh; for which there is no liability of Kohrais, should not the
rule be that a Mayzid be exempt

OVERVIEW

The Rn*92 cites a P0D concerning 7Y% (31279) which states' maawa oxwm, that a
1297 is brought only for 3 wa 7%°¥n, but not if he was 7122 %91, The question
posed, is why is a P10 necessary to exclude 79°v»2 71 from a 327p, for there is a
1"p; if by other 1R (which are stricter) where there is a N1 21’1 (for transgressing
it 7°tn2) there is no 327 2vn for T, so by 79°yn (which is more lenient) where
there 1s no nN73 211 for 7°m, there should certainly not be a 1299 2vrn for 7. Our
mooIn discusses the basis of this 1"p.

nooIN asks:
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It is astounding! Let us say that this 1"p itself is the cause why we need the 1y»
of w2 (to exclude 19°vna 77177 from a 127p); for without the P09 we could have
argued that other mx» which are severe, for their punishment is n35 (for 7°1),

therefore there is no atonement (with a j27?) for their 791, but rather they receive

nao -
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However 972, which is more lenient for there is no na> by a%>wyna 717,
therefore, there is atonement (with a 327p) for its 791!

moon offers support for this logic:
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' 0,7 XIPN states, DY I R T WP AW ANYR) 29 290 03 Uy,
? Moo question is that bringing a 1277 is not a severity, but rather a leniency; that his sin is forgiven (instead of
receiving N12); therefore other 0°10°X where there is a N2 punishment for 71, they cannot receive atonement with a
1297 and forgo the N3 punishment, rather they must receive the (harsher) n15 punishment. However by 19°vn where
there is no N5 punishment for 7°1», his atonement can be with a 127p. Therefore we need the 109 of 7aw2 to exclude
T2°vna 71 from a j27p. NvON agrees with the premise of the 1"p that 717°vn is less severe than 2> M0°X IXW; he
questions the conclusion of the 1"p, by arguing that a 7277 is a leniency, therefore 77°v» which is more lenient than
other 0110°X should have the atonement of a 127p. See ‘Thinking it over’ # 1.
3 The xn3 there is explaining the first 7awn that if 077y testified that someone needs to go to M (for he killed
someone A1), and the 07y where o117, these P 7Y do not receive M3 [even though the 77N writes [ 2127
PARD MWY? 1T WRY 12 anwyy (0,00 [o°wow]), but rather they receive mpon for testifying falsely. The &) explains
the reason for this ruling is the following 1"p cited in m»oIn.
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And there is something similar to this logic of m501n in the beginning of n>on

n>» where the X713 states that it is aY"'p -
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And what if by the murderer, who did an action 7922, he does not go to m»s,
these a7 27» who did not do any action (they did not actually kill anyone),

should certainly not go to n\»3; this was the 1"p. The X3 responded that we cannot derive
it from this 1"p that 2°»%1 2>7v are not 71713, for -
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This 1"p itself is the cause why the 1217 0°79 should be 7913; for, he (the murderer)
who did an action (he murdered) should not be 1%, in order that the ni%

should not atone for him; however -
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They (the 1»m11 0>7v) who did no action (they did not kill) should be 77933, that it

should be a 195> for them. We see that when it comes to items which are a 7793 (like m3a
and 127p); we afford it to the more lenient case than to the more severe cases.

mMooIn has an additional question on this 1"p:
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And additionally, the four (sinners) who bring a 727p for a 791 as well as a »Ww
will disprove the 1"p, for there is no n1> by these four and nevertheless they are

obligated to bring a 1277 for their 1173, similarly by 72°vn (even though) there is no n-3,

nevertheless it requires a J27p by 71 (not as the 1" indicated). The four are -
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One who had relations with a 79197 7w, a X%w 9913, and the oaths of witnesses
and deposits; these four bring a 1277 (even) if they violated 712,

madIN answers.

* This is even in a case where there was no %7077 so he is not 70" 27, nevertheless he does not go to m~a.
> The point of the rejection of the 1"p is (like here) that n2x is not (merely) a severity but rather it is a leniency to
provide atonement, therefore it is given to the more lenient case (the o217 07y as opposed to the (actual) killer),
similarly here a 1277 should be given to the lenient case of 72°v» and not to the severe cases of n">.
8 A 19170 anow is a MIwId aMOw who was I N2 PRM AW X0 (see X 2,00 [2WTP] RIPM]. A PR who has
relations with here brings an 19171 Anow awR, whether it was A2 or 72
7 A 7"11 who became Xnv with a n» n¥mu during his M7°11 must bring an 7°1 owX whether he became w32 Xnv or
T2 (see 2° 1,1 [Kw1] 72712).
¥ A person who knew testimony and claimed under oath that he knows no testimony is liable to bring a 72w 127p
771, whether he transgressed the oath 22102 or 7°T11 (see 1 X ,i7 X7pP™1)
? Someone who denies under oath owing someone else money (whether a loan, a deposit, wages, etc.) when in fact
he owed the money, is obligated to bring an m>>13 owX whether it was 3w or 712 (see 79 R ,77 KIpP™).
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And the "% says that the X723 properly rejects the 1'p without these two
concerns that md01n mentioned, by saying; ‘no; if you say, etc.

nooIn asks:
= (%,0 97 N2 TIIVNIN INNAN PNYY 19%29D NYD Hymr9a

However, the 5''9 has a difficulty; why was it necessary for the X723 in non

s -
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regarding a 712Y1 MBW to cite the 109 of Rum WK to include a 7911 that a T is

also required to bring an 7191717 ANOW QWX -
= 11 MaY Boixnom w1 593 9913 %an

And also regarding 971 the X713 expounds '218n2' to include 751%; the question is

why is it necessary to have a *12°1 to include 71, why would we think otherwise -
- %919 0OWINT NYIYNN 99 NYT DIVN INT

For if we need a P09 to include 712 in order that we should not derive ( oW
79171 and Xav 7°11) from 797, which is excluded from 79173 this is no answer -
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For on the contrary, we should derive 79171 79w and 7°11 from m7TYs nynw
N7PeM where there is a 12797 21n (even) 7112; for we make a wps7 to be
stringent. Mmoo1n does not answer this question.

SUMMARY
127p 1s a 11192; there is a logic to say that only a less severe transgression can bring
a 1277 and have a 71792, but not (necessarily) a more severe transgression.

1% mpoin is essentially saying that the two questions of mooIn are valid to reject the 1"p, but the X723 chose a third
way of disproving the 1"p.
' See “Thinking it over’ # 3.
1295 v (2w17p) XpM reads; KU WK DXL §2 7201 KOG WK SNRWT DY M *10% aWRT 2°X3 1797 179y 193). The second
XU WX RO teaches us that 7o needs to bring a 127p like AW (see 72011 AT K,1 NN "W).
11,1 (Xw1) 12772 regarding a 7711 reads; "3 DXDD Y092 19Y N DAY D).
* We know that an m>*y» Dwx is brought only for 313 79°¥» (not T'm2) for the P1od (see footnote # 1) clearly states
a2 axum, therefore (without the "12°7) we may have thought that 7910 ndw owX and 7°11 owX are also only by
mw. See ‘Thinking it over’ # 2. However maoin rejects this argument.
15 There are two options; either to derive 7191717 7dOWY 7711 from 72°¥7 to be lenient and exempt a 71 from a J27p, or
to be strict and derive 7" 719177 AMOW from NTPOM MY NY12W that a 71 is required to bring a 127p. There is a rule
that wherever we have two options to make a wp> either X719 or X117, we make the X117 wpn. Therefore there
is (seemingly) no need for a »12°7 to include 71 by 79171 AMOWY 7711 since we can derive it through a wp i from nyaw
n7pem My, See “Thinking it over” # 1.
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THINKING IT OVER

1. mooIn seems to be self-contradictory. Initially n1901n claimed that since 1277 1s a
7793, it should be appropriate only for the less severe transgressions; meaning that
1277 is a X99p.'® However at the end Mmooin maintains that if we have a choice which
wp i is valid we should choose the wp i which obligates a 727 since Xmn?
wwpn,” but initially mpoIn argued that bringing a j27p is not (necessarily) a
xvm!'®

2. Moon mentions that we may have thought to derive n"w and 7°11 from 1%°v7 (that
there is no 72 1277)."” However as noon said initially that we can say nimia &7,
by 1717°¥n there is 7in°n (according to *27) therefore there is no 7°112 j29p; but by n"w
and =°11 where there is no 7n°» there can be a 711 327 210,

3. What is the connection of m0In last question (°"17 wp m’m),“with this which
mpon stated previously??

16 See footnote # 2.
17 See footnote # 15.
18 See X"wAmn.
19 See footnote # 14.
20 See X"wIN.
2 See footnote # 11.
22 See n"n.
4

TosfosInEnglish.com



